Forcing - pas forcing

Vulnerable: Personne

a A6 Sud
v D963 le
¢+ RV72 INT
% DV3 ?
Vulnerable: Personne
a ADX Sud
v 9 &
¢+ RV3 2%
& RVX654 ?
Vulnerable: Personne
a 3 Sud
v AD2 le
¢ AV643 2%
« DV87 ?
Vulnerable: Personne
a AX42 Sud
v 2 le
¢ AV87 1a
% DV32 ?
Vulnerable: Personne
a D Sud
v AX643 lv
¢ AV52 2¢
% A87 ?
Vulnerable: Personne
a R3 Sud
v AVX52 lw
¢ R8642 2e
& V ?
Vulnerable:
& AR752 Sud
v AX64 1a
¢ R ?
& 854
Vulnerable:
& RV64 Sud
v DX
¢ DV83 2NT
& X82 ?

Réponse: —
QOuest Nord Est

— 14 —
— 2w —

Réponse: —

Ouest Nord Est
— le —
— 2' —

Réponse: —

OQOuest Nord Est
_ 14 _
— 26 —

Réponse: —

QOuest Nord Est
— ] v —
— 3 v —

Réponse: 44

Ouest Nord Est
_ ] A _
— 3 A —

Réponse: X
Ouest Nord Est

— Q& —
— 3 —_

Personne Réponse: —

Ouest Nord Est
X 2¢ —

Nord/Sud Réponse: —

Ouest Nord Est
2¢ —
- 4NT -



